6 5 4 3 | 2 1
PARTS LIST
ITEM QTY PART NUMBER DESCRIPTION
Base _ 1 2 M6000004 Bezel
= 573.70 mm [22,587 in] 2 1 M6003002 Rear Panel
= @ 3 1 M6000029 Carry Handle
= Q S 4 10 M3 x 8 mm CSK Screw Base Panel Screws
o o~ / 5 8 M4 x 10 mm CSK Screw Bezel Fixing Screws
:\ E' ( > 6 4 M4 x 12 mm Pan Screw Rear Panel Screws
'g' S 7 1 M6001006 Top Cover
£ B _ 8 1 M6002003 Base Panel
S . p! £ 9 2 M6002020 Sub Rack Support Runner
By = L] o 98 10 2 M5600045 Molded Tilt Feet
" L] N
[o0] Q —_
© = £
o, a0 €
= - PR 482.00 mm [18,976 in] Rear
S = %c_; 10.00 mm [0,394 in]
3 N| oY = 466.00 mm [18,346 in]
5 Bl g < B
: il T = ¢
| \ s R = 8r &
= B = o 8
: U[ % el E
470.14 mm [18,509 in] — 2 |, o el £ =
00t Nhole detall:
2 holes @3.3 mm ~ i ] g; — ™
[0,13 in] & 1 hole @ L J 1%) ™
@3.8 mm [0,15 in]
Front 516.26 mm [20,325 in]
482.60 mm [19,00 in] Panel Width %D (% Side
- 466.00 18.346 i 304.50 mm [11,988 in]
S 00 mm [18,346 in] @ @ Inside face of rear panel to inside
) face of rear.
am — — —
T = A 2 £ = ﬂ\\ c
51 g | _ o B 1. ' @
e B § . ® | 5 ” ) R
| = ( ) 0,98 L O
~ = M4 Earth Stud S E|l= 2 " SR [ — e
o E g £ ENE8 £
E 8 [ ‘ ] 5 § A E [ o [ q o " %
£ B - A L5 < Lol = =
LN

Notes:
1) Case is fabricated from 1.5 mm aluminium sheet with die cast & extrusion bezels.

2) Case is powder coat painted fine texture with RAL 7040 bezels and RAL 7035 panel work.

FIRST ANGLE PROJECTION

Designed by Description

L Clark

Instrumet 3U x 19" x 350 mm - Carry Handle

Scale

1:5

Date
25/01/2013

3) All parts have an M4 x 10 mm stud for earthing points. a
4) The side grip handles are moulded ABS RAL 7035. I:{SIEr-lIJ-r%AWSaE SEeglg\inCskgtEgI}tEFEreham Case Www.metcase.com
I 4 I
: Part Number I
© OKW Enclosures Ltd (Date as shown). This drawing contains proprietary information of OKW Enclosures Ltd and is tendered subject to the following conditions. The information Hampshlre, UK. PO15 STX M60193 15 ssue Sheet
be retained in confidence, not be reproduced or copied, and not be used or incorporated in any product, unless permission is obtained in writing from OKW Enclosures Ltd. Tel: +44 (0)1489 583858 Email: metcase@okw.co.uk 1 1 / 1
\ 5 4 3 { 2 1




